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                     Name:…………………………………………………….      Date: ……………………

Motion Worksheet 
This worksheet accompanies Equations of Motion.ppt, Circular Motion.ppt and Projectile Motion.ppt
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1. 
On the diagram below, indicate with an X the point where the comet has its highest speed. Explain why you chose this point.

2. 
Complete the table below about man-made satellites.

Try to think of as many different uses as possible for each type of satellite.
	
	polar orbit

	geostationary orbit

	orbit path
	
	

	orbit height
	
	

	uses for this type of satellite
	
	


3.
Fill in the blanks in these sentences about circular motion in space.
Circular motion needs a force called the ______________ ________________. For a planet orbiting a star, this is provided by ______________. The force needed to keep an object in orbit increases as mass ________________, speed _________________ and the radius of the obit circle ___________. In order for an object to be in orbit, the object must be continually accelerating in the direction of the _________________ of the circle. This acceleration is always in the same direction as the ______________ force.
4.
The diagram below shows two forces acting on an object. The diagram is not to scale. Use trigonometry or a scale diagram to calculate the resultant force.
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The resultant force is …………………………………………………………………………N.
5. 
Complete the table below, giving three examples of vector quantities and three examples of scalar quantities.

	Vector

	Scalar

	
	

	
	

	
	


6.
Use the equation below to calculate the acceleration of a car which accelerates from 10 m/s to 20 m/s in 20 seconds.

The acceleration is …………………………………………………..………………………m/s².
7.
Choose a suitable equation of motion from the list below to calculate the height a ball reaches, if it is thrown vertically upwards with an initial speed of 10 m/s.

Use g = 10 m/s².



The height reached by the ball is………………………………..……..………………………m.

8. If a ball is dropped off a cliff of height 50 m, calculate its velocity as it hits the ground. Use g = 10 m/s.
The velocity when it hits the ground is ……………………………………………….………m/s.

What have you ignored in the question?

…………………………………………………………………………………………………………
9.
The diagram below shows a ball kicked off a cliff. Indicate the horizontal and vertical velocity at each point, using two separate vector arrows. Please show relative size. The first one has been completed for you.



a.
Describe how the horizontal velocity varies during projectile motion. 
…………………………………………………………………………………………………………
…………………………………………………………………………………………………………
…………………………………………………………………………………………………………
b.
Which equation can be used to calculate the horizontal velocity?

…………………………………………………………………………………………………………

c.
Which equations can be used to calculate the vertical velocity?

…………………………………………………………………………………………………………
…………………………………………………………………………………………………………[image: image1.png]
































































































































































































































































































































































































































































































































































































s  =  ut  +  ½ at2








v2  =  u2  +  2as





v  =  u  +  at
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